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SUMMATIVE ASSESSMENT -1, 2014
MATHEMATICS CLASS - IX
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General Instructions:

(1) All questions are compulsory.

(if) The question paper consists of 34 questions divided into four sections A, B, C and D.
Section-A comprises of 8 questions of 1 mark each; Section-B comprises of 6 questions of 2
marks each; Section-C comprises of 10 questions of 3 marks each and Section-D comprises
of 10 questions of 4 marks each.

(iii)  Question numbers 1 to 8 in Section-A are multiple choice questions where you are required
to select one correct option out of the given four.

(iv)  There is no overall choice. However, internal choices have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

(v) Use of calculator is not permitted.
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Eue-3 / SECTION-A
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Teh Wel T | 3Tkt Ual fashew I ¥

Question numbers 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice.

x—£3ﬁ'(§=p\/7€fﬁﬁpﬁﬂﬂ%: !
5 25 7 V7
® ® = © 5 O %
If x ?7 and i = p~/7 then the value of p is :
5 25 7 V7
® ® = © 5 O 5
a’ +ab° & TUHETE T : 1
(A)  a (a°+D) (B) b, (a°+b"
(C) a’(a+b) (D) b (a+b)
The factors of a’ +ab° are :
(A)  a, (@°+b) (B) b, (a°+Db°)
Q) a°% (a+Db) (D) b’ (a+b)
IS p(x) =2’ +2°+ J5x+ /5 &, Wp (—+/5) TRT : 1
(A)  -55 B) —45
(© 5+45 D) -5+5
If p(x)=x"+x"+ /5 x+ /5, then the value of p (= /5 ) is :
(A) —-545 B) —4.5
© 5++5 D) —5++5
qﬁa+b+c=0€f,ﬁfa3+b3+caw%: 1
A) O (B) abc (©)  2abc (D)  3abc
Ifa+b+c=0,thena’+b’+c’is:
A) O (B) abc (©  2abc (D)  3abc
AHMA U PS LISRRQLIE, Wy HIAME : 1
90° <c 80 (D)  135°
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In figure PS L 1 and RQ L ], the degree measure of y is :

90° (© 80 (D)  135°
1
%\
B 8 cm C
(A) «ZC>/B (B) /B< /A
(C) «ZC>ZA (D) «4B>ZA
In AABC :
A
AN
J )Q’?a
/ N\
B 8 cm o
(A) «ZC>/B (B) /B< /A
(C) «ZC>ZA (D) «4B>ZA
afc f6ig A(2,0), B(—6,0) 3IRC(3,a—3), x- I R Q) TaF AR R : 1
(A 0 B 2 © 3 D) -6
If the points A(2, 0), B(—6, 0) and C(3, a—3) lie on the x-axis, then the value of a
is :
(A 0 B 2 © 3 D) -6
foig Q % fcwre € : 1
1
X'« »X
3.5 units
Q 3 units
M
A) (3,35 (B) (3.5,3)
© (=335 D) (=3, =35
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11.

12.

13.
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The co-ordinates of point Q are :

A

X'« »X
3.5 units
Q 3 units
M
(A) (3,35 (B) (3.5,3)
© (—3,3.5) (D) (=3, —=3.5)

wus-&/ SECTION-B
U9 GEAT 9 | 14 W Uk o 2 37k Tl

Question numbers 9 to 14 carry two marks each.

At 7x =1, 1 x 1 TIH €Y A HifsTC |
If 7x =1 then find the decimal expansion of x.

TUAEUE HIST : x°+3/3x+6
Factorise : x2+3\/§ x+6

TGS x> — 9 T TH A HIFST, Safh x=97 ¥ |
Find the value of the polynomial x*—9 for x=97.

sMpfd § AB &1 #=a-fdg C § 3R AC @1 #w-fig D 81 fag =ifsw &

AD= %AB.

A D C B
In figure C is the mid-point of AB and D is the midpoint of AC. Prove that
AD= lAB.
4 &
A D C B
3MeRfd § AOLOB 1 ZAOC &R £BOC I HifT |
L
A+
(2x—5) C
(x—10)
i B
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In figure AOLOB. Find ZAOC and ZBOC.
4
A+

(2x—5) e
®-10
0 B

31eraT/ OR
AFHAH a+b=c+d ¥ fag FINT fF AOC T T W@ ¥l

14.

Eus-¥"/ SECTION-C
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U9 WEAT 15 W 24 § UAF o 3 3 T

Question numbers 15 to 24 carry three marks each.

15. %aﬂz%wﬁﬁzlqﬁﬁw@ﬁmaﬁm' 3
. . 1 1
Find four rational numbers between g and g
94T/ OR
%
3 2
gaﬁm:_ﬁ-f/
1283
Y3 .42
Evaluate:'—1
128%’
16. -2 HB+2 3
LA HIIT : -
B+2 -2
Simplify: Yo =2 _ 5 +2
B5+2 -2
17. Qﬁx+l=3@,ﬁx3+%§|ﬁ3ﬁiﬁm 3
x X
Ifx+1=3,thenfindx3+i3.
x x
{Yar/ OR

ITHA THA o TAN F OHEGEUE HIWT : 2x° — 132 + 26x — 15

Using remainder theorem, factorise : 2x° —13x” +26x — 15

18. 1,1 3
. 1,1 2
Verify that : xy {(x+y)(—+—j—4}=(x—y)
xoy
19. SFEAHPOLABRI A x:y:2=1:3:5% Al x, y R z T A9 I HITC | 3
F
Q
R
Y\x
z
A 0 B
In the given figure PO L AB. If x : y : z=1:3: 5 then find the degree measure of
x, y and z.
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23.
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P

Y\x

Z
A 0 B

3rgET/ OR
e <1 T WeR yfaesg ol €, df SiuifE o 9 29 € |

If two lines intersect each other then prove that the vertically opposite angles are
equal.

3Ffd § ABC U GHfgag 5= 8, 59 H AB=AC T AABC &F 1| % foig D
39 YR & f ~CBD=/,BCD ¥ fag =ifsu f& AABC #, AD, /BAC &l

HHfgTSTR © |
A

B C
In figure ABC is an isosceles triangle with AB=AC. D is a point in the interior of

AABC such that ZCBD = ZBCD. Prove that AD bisects Z/BAC of AABC.
A

B C

f1YS LMN & 3fivicia MP 3R NQ 99 €, st fof st ofsiefi LN 3R LM R ©i=
T | <isy fF ALMP = ALNQ 3R LM=LN &1

LMN is a triangle in which altitudes MP and NQ to sides LN and LM
respectively are equal. Show that ALMP = ALNQ and LM =LN.

AABC #H Z/ABC > ZACB &1 si3ii AB 3R AC &I ¥ P 3R Q T = 141 |
g9misY fo /PBC < ZQCB |

In AABC, ZABC > ZACB. Sides AB and AC are extended to points P and Q
respectively. Prove that Z/PBC < ZQCB.
fo § AB||CD ®1 afc ZABR=45° 3R LROD =105° &, @ ZODC T SHifT |
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A
— 557 b
O
r” 105°
2 D
In the figure AB||CD. If ZABR=45°and ZROD =105° then find ZODC.
A
- 557 b
O
R 105°

AABC t# Tufgarg fayet & fo@d AB=AC %1 T34« &1 uf@m™ 36 cm 3R 3
AB=10cm &1 T4 1 &=hat 91 Fifeg |

AABC is an isosceles triangle with AB=AC. The perimeter of the triangle is
36 cm and AB=10 cm. What is the area of the triangle ?

@ug-g/ SECTION-D
UYT HEAT 25 | 34 § Ueeh oh 4 37k 2|
Question numbers 25 to 34 carry four marks each.

40 4
& BT : ,SefeR 10 =3.162 T |
210 + 20 + 40 — 2.5
40
Evaluate : , when it is given that /10 =3.162.
2410 + 20 + 440 — 25 &
31eraT/ OR

Ttz (4)2 71 - (16)°7! =384 &, T x T TH I FIFAT
If (421 = (16)° ' =384, then find the value of x.

MY 4 x, y 3R 2 ST arafas gead € iR 9t wie uiee geand €1 guiEe 4
% :

a a2+ab+b? b b2 +be+c2 c ?+ca+a?
b " yC A

Assuming that x, y, z are positive real numbers and the exponents are all rational
numbers, show that :

a a2+ab+b2 b b2 +be+c2 c ?+ca+a?
xb B R
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(S px’ +5x + 1 %W‘é(x—Z)(‘}ﬁ'{ (x - %j g, ﬁi’ﬂﬁ"{ﬁp=r%l

If (x—2) and (x - %) are factors of px”+5x +r then show that p=r.

TEUS p(x) = ka’ +9x” +4x — 8 I (x+3) ¥ N 1 W IATHA 10(1 —k) &, T k 1 HH 4

I i |

The polynomial p(x)
remainder 10(1 — k). Find the value of k.

=kx’+9x°+4x—8 when divided by (x+3) leaves a

af x 3R y q oS dGfos HEAW 3@ YER € fF 8’ +27,°=730 IR 4

2%y +3xy° =15 g, ?ﬁ2x+3y3‘ﬂﬁ IS |

If x and y are two positive real numbers such that 8x’+27y°=730 and

2x%y +3xy” =15 then evaluate : 2x +3y

Freferfiaa foigeh 1 eTefea FfT -
fg
P Q| R |S T U
[EEHICD
X -1]10 1|6 |3 -3 6
y 3 3 (3]0 -2] -3
fig P 3R Q & &ife H 1= F1d HIfST |
Plot the following points :
Points
P Q| R |S T U
Co-ordination
X -1]0]6 |3 -3 6
y 3 3 (3]0 -2| -3

What is the difference between the ordinate of points P and Q.

3MFHfd § OA =0D 3R £1= 2 %\ fag Fifsw fos AOCB & wufgamg et 1
C B

In figure OA =0OD and £1= £2. Prove that AOCB is an isosceles triangle.

C
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32. sm&fd § AB=AC, CH=CB 3R HK|BC &1 3f§ ZCAX=137° &, & LCHK ¥ 4
SHItSTT |
%
AL)137°
H K
B el
In figure AB=AC, CH=CB and HK|[BC. If ZCAX=137° then find ZCHK.
%
AL)137°
H K
B e
37eraT/ OR
AABC % AC > AB ® @91 /B 3R ~C % THfgyN® WeR fig O W ¥fdwsg #:id Bl
fag wifse f OC > OB &1
In AABC, AC > AB. The bisectors of ZB and ZC intersect each other at O. Prove
that OC > OB.
33.  AABC &I yssii AB 3R AC &1 A P 3R Q % g/l 1 g1 afg ~CBP 3K 4

/BCQ & Tufgyrsih %99 BO 3R CO %, it T foig O W e €, @ fag wifaw ff

/BOC=90°— %x%l

A

X
B Y SN
PW\Q
o)
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The sides AB and AC of AABC are produced to point P and Q respectively. If
bisectors BO and CO of ZCBP and ZBCQ respectively meet at point O then

prove that ZBOC=90°— %x.

A

X

B LY 2NE
P/\/\Q
O
34. fag =ifae for ww aafgang By 1 SReR esil & grg@ w17 ser 8 § | 4

Prove that the angle opposite to equal sides of a triangle are equal.

-00o0-
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